Mathl122 Quiz #6 2011 February 25
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Show your work. Answers without work earn reduced credit.

1. [2 parts, 1 point each] Let C(g) represent the cost and R(g) represent the revenue, in
dollars, of producing ¢ items.

{a) If C{50} = 2340 and C'(50) = 14, estimate C(52).

C(62) 2 2340 + 2| ﬁ@;ﬂ

(b) If C'(50) = 20 and R'(50) = 26, estimate the profit that the company earns from the
515% item.

'M‘H ~ MR-MC=26-20 = @

2. |4 parts, 1 point each] Differentiate the following functions.

. %£ 4657 - 53[%] Lﬂ
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3. [1 point] Find the equation of the tangent line to the curve f(t)=1> —3t+1at ¢ =2.
’ \1( "\fig ‘;M(}("X\}
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m=4"(2) = 4 3= Y ot = X2

?(i :'2 W
Y, = 95324 | =Y+l =~]

4. [3 parts, 1 point each] Differentiate the following funections.

{(a} f(z)=2e* + 22

b fee] - 40 + 4]
= @&X 4 2%]

(b) y =2 + &%

Sl = [0 4[]

oL S el
= @) 2" + 3@,35(

(¢) g(s) =4-e%5% +In(s)

[qw"ﬁ .wfo.m(s)] -4 [&;@QO-@] v £ [06)]
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